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Question Number : 1 Question Id : 864351451 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For an electromagnetic wave travelling in free space, the relation between average energy

densities due to electric (U,) and magnetic (U, fields is :
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Question Number : 1 Question Id : 864351451 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 4 Wrong Marks : 1

gai6a 96 @R 6615 896, 9AR1D A IR, G916 699 6aIg 98 ALl (U,) 19 9ARIA 689
88 Qe (U,) 99 QI6 2196 IA60 62a8 -

Options :

U U
8643511351, °© s

L.'F ==
8643511352.

I

I >1
8643511353. * m

I < 1J
8643511354. L‘f L“‘

Question Number : 2 Question Id : 864351452 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The volume V of an enclosure contains a mixture of three gases, 16 g of oxygen, 28 g of
nitrogen and 44 g of carbon dioxide at absolute temperature T. Consider R as universal gas
constant. The pressure of the mixture of gases is :

Options :

5 RT
2

V

8643511355.

8643511356, V



4RT

8643511357,

88R1
8643511358, V

Question Number : 2 Question Id : 864351452 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 864351453 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For changing the capacitance of a given parallel plate capacitor, a dielectric material of

dielectric constant K is used, which has the same area as the plates of the capacitor. The

thickness of the dielecltric slab is id , where “d’ is the separation between the plates of parallel

plate capacitor. The new capacitance (C') in terms of original capacitance ((,) is given by

the follnwi_ng relation :
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Question Number : 4 Question Id : 864351454 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The velcrcit}r-dispiacement graph desvcﬂhmg the motion of a bic:;dr: is shown in the [ igure.
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The acceleration-displacement graph of the bicycle’s molion is best described by :
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Question Number : 4 Question Id : 864351454 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 864351455 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A block of mass m slides along a floor while a force of magnitude F is applied to itat an angle
B as shown in figure. The coefficient of kinetic friction is . Then, the block’s acceleration
‘a’ is given by :

(g is acceleration due to gravity)
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 864351456 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bar magnet of length 14 cm is placed in the magnetic meridian with its north pole pointing,
towards the geographic north pole. A neutral point is obtained at a distance of 18 cm from
the center of the magnet. If B;=0.4 G, the magnetic moment of the magnet is (1 G=10"1T)
Options :
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Question Number : 6 Question Id : 864351456 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 864351457 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The a_nglr_- of deviation thrcrugh a prism is minimum when

(A) Incident ray and emergent ray are symmetric to the prism
(B) The refracted ray inside the prism becomes parallel to its base
(C) Angle of incidence is equal to that of the angle of emergence
(D)  When angle of emergence is double the angle of incidence
Choose the correct answer from the options given below :

Options :

2643511375, Only statements (A) and (B) are true

8643511376, Statements (A), (B) and (C) are true

2643511377, Only statement (D) is true

8643511378, Statements (B) and (C) are true

Question Number : 7 Question Id : 864351457 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



def AU69R QNS 9@ 0F IR G997 6RI8 A9RT 26T CUEOETER

(A) 2C%e 0F 6 Fde of Je¢ 996 96an 6l |

(B) @en AuUee g9998e aFt gere gf Q@ anee 691gald |
(C) D6 6Q16l 8 R 6ald QAF AAIQ 6aIREI |

(D) 6Q606960 G0 6RIET 21060 190 QRgE 621G2I |
Per Qg9 GREgPaq 08 RR0 o8G Q9 :

Options :
8643511375, S99 @ (A) 9° (B) O 20W

2643511376, @ (A), (B) 9e° (C) O agw

8643511377, 689 (D) ¢ OR

8643511378, 2@ (B) ¥e° (C) Q0q 26w

Question Number : 8 Question Id : 864351458 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An RC circuit as shown in the figure is driven by a AC source generating a square wave. The

output wave pattern monitored by CRO would look close to :
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Question Number : 8 Question Id : 864351458 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 864351459 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A block of 200 g mass moves with a uniform speed in a horizontal circular groove, with
vertical side walls of radius 20 cm. If the block takes 40 s to complete one round, the normal
force by the side walls of the groove is :

Options :



8643511383, 0314 N

8643511384, 2859 x10~* N

7 3
8643511385, 0-28x 107" N

8643511386, 2-899x10 "= N

Question Number : 9 Question Id : 864351459 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 864351460 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In thermodynamics, heat and work are :
Options :
8643511387, Point functons

8643511388, Path functions
8643511389 Intensive thermodynamic state variables

643511390, Extensive thernmd}fnaﬂuc stale variables

Question Number : 10 Question Id : 864351460 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 4 Wrong Marks : 1
PI000a GRIGER, P10 19° QY 69RE :
Options :

8643511387, 99 dwdE

8643511388, el Twda

8643511389, @EENLE| LIHCLE HbG Pwbld

GRECRAR FI0Ee B0 eonld
8643511390.

Question Number : 11 Question Id : 864351461 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The maximum and minimum distances of a comet from the Sun are 1.6 x 10> m and
8.0 101 m respectively. If the speed of the comet at the nearest point is 6% 104 ms 1, the
speed at the farthest point is :

Options :
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Question Number : 11 Question Id : 864351461 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 864351462 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four equal masses, m each are placed at the corners of a square of length (I) as shown in the
figure. The moment of inertia of the system about an axis passing through A and parallel to
DB would be :
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Question Number : 12 Question Id : 864351462 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 864351463 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A25m Iong antenna is mounted on an antenna tower. The height of the antenna lower is

75 m. The wavelength (in meter) of the signal transmitted by this antenna would be :
Options :
8643511399, 200

8643511400, <00

8643511401, 200

8643511402, 100

Question Number : 13 Question Id : 864351463 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 864351464 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The stopping potential in the context of photoelectric effect depends on the following property
of incident electromagnetic radiation :

Options :
8643511403, [requency

8643511404, ~*mplitude

8643511405, [ntensity

8643511406, Lhase

Question Number : 14 Question Id : 864351464 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 864351465 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Time period of a simple pendulum is T inside a lift when the lift is stationary. If the lift moves

upwards with an acceleration g /2, the time period of pendulum will be :

Options :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 864351466 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A pla_ne electrcrmagnetic wave of frequ ency 500 MHz is trav eIling in vacuum alcrng y-d_irec Hon.

Ata particular point in space and time, E =80 x10% 2T. The value of electric field at this
point is:

(speed of light=3x10% ms—1)

A, M, )
x, i, z are unit vectors along x, y and z directions.
Options :

W x V
8643511411, —+* V/m

M
8643511412, 20 x V/m

M
8643511413, 2% x V/m

8643511414, =0 ¥ V/m

Question Number : 16 Question Id : 864351466 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 864351467 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A conducting bar of length L is free to slide on two parallel conducting rails as shown in the

figure
[ ]
] oy
Fd o =
i 4
’ —
R-l “ B {f Rz
< >
| x X [

Two resistors R, and R, are connected across the ends of the rails. There is a uniform magnetic

field E pointing into the page. An external agent pulls the bar to the left at a constant
speed ©.

The correct statement about the directions of induced currents I, and [, flowing through
R, and R, respectively is :

Options :
8643511415 [, is in anticlockwise direction and I, is in clockwise direction

8643511416, Il is in clockwise direction and I2 is in anticlockwise direclion

2643511417, Both Il and I2 are in anticlockwise direction

8643511418. Both 1, and I, are in clockwise direction

Question Number : 17 Question Id : 864351467 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 864351468 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The pressure acting on a submarine is 3 x 10° Pa at a certain depth. If the depth is doubled,

the percentage increase in the pressure acting on the submarine would be :

(Assume that atmospheric pressure is 1 x 10° Pa density of water is 10° kg m %, g=10 ms " ?)

Options :
5 (LT
8643511419, 20
200,
8643511420, °
200

8643511421, 2
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Question Number : 18 Question Id : 864351468 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 864351469 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A conducting wire of length ', area of cross-section A and electric resistivity p is connected
between the terminals of a battery. A potential difference V is developed between its ends,
causing an electric current.
If the length of the wire of the same material is doubled and the area of cross-section is

halved, the resultant current would be :
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Question Number : 19 Question Id : 864351469 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
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Question Number : 20 Question Id : 864351470 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
One main scale division of a vernier caﬂipers is ‘a’ em and n'!" division of the vernier scale

coincide with (n—1)% division of the main scale. The least count of the callipers in mm is :

(32)
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‘10 na
1)

Options :
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Question Number : 20 Question Id : 864351470 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 21 Question Id : 864351471 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A sinusoidal voltage of peak value 250 V is applied to a series LCR circuit, in which R=8 (],
L=24 mH and C=60 pwF. The value of power dissipated at resonant condition is ‘x* kW.
The value of x to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 864351471 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Q6QIR AN 250 V @ QIR6RIQieein, 8916 9099 19 688166 g9 LCR 989269 9608 S010RE,
660168 R=8 0, L=24 mH 9o C=60 pF 269 | 2geI0e 306a 2090 69020 936 il
‘* kW 266 | 3969 gaaaiica x @ gl 26e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351472 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a frame that is made up of two thin massless rods AB and AC as shown in the

figure. A vertical force F of magnitude 100 N is applied at point A of the frame.

7

s
R
kB
"\
ol

o

145°|
\

i

Suppose the force is P resolved parallel to the arms AB and AC of the frame.

The magnitude of the resolved component along the arm AC is xN.
The value of x, to the nearest integer, is
|Given:  sin(35%)=0.573, cos(35%)=0.819

sin(110%)=0.939, cos(110°) = —0.342 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 864351472 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



TR6R Q4IRS 29AEa 6aIC 6UR G910 @8 Y19 9af dew! 99991e 99 AB 9e® AC qial

. — s . RS —
G0e | egdre A @Q0Iea 100 N eflida 9@ ejaf @F P § 963l auidieg |

P o
lwa)

P

<

LI~

A6ee0 99 P G AB ¥9° AC 912 99 afIea Ggea 129 (Seae) aaenl | AC 912 696 OFa
2ega QGaId xN 266 | Gacen gaadita x Y 699 |
[28 : sin(35°)=0.573, cos(35°)=0.819

sin(110%) =0.939, cos(110%) = —0.342 ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 864351473 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The first three spectral lines of H-atom in the Balmer series are given A Ao, Ay considering the

Bohr atomic model, the wave lengths of first and third spectral lines [::—IJ are related by a
3

factor of approximately ‘v’ x10 1,

The value of x, to the nearest integer, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 864351473 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6QIRe% DaMIE FEeRY A9INY 676 AINFR 65418 92N BeRIT Qdint 6RUIGEHY Ay, A, XS A, YA

i

QAAEE | QAN 9L° o198 Q4 6ada 29aIe

o

%
h_1| @ El:f{:‘l_?l:@‘;ﬁ' RUER ‘¥’ x10~1 g G
;"L% 4

CRUQIRE | FRCEH FUA°HIEa 1* @ R 629

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351474 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The value of power dissipated across the zener diode (V,=15 V) connected in the circuit as
shown in the figure is x x 10~ ! walt.

Rg =35 §)

AA AR
" .'l Wy l.l. \

e
*

= R =900

V,=15V £

L

22V

w
(]

The value of x, to the nearest integer, is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 864351474 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Sgea edlIgndel QU6 ATHER A°YS FRR Q6 (V,=15 V) 60 609391 68 209D 26
xx10~1 @gig |
Rg=35 0

AA AR

iAo
FYYYY

L1

R; =90

h

T VWYY
_— V,=15V ¢

l

W]

Geeen gdaencR x @ R4 268 |

!
5

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 864351475 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 10 kg moving with a velocity IID\.":’_; ms | along X-axis, hits another ball of

mass 20 kg which is at rest. After collision, the first ball comes to rest and the second one
disintegrates into two equal pieces. One of the pieces starts moving along Y-axis at a speed
of 10 m/s. The second piece starts moving at a speed of 20 m/s at an angle 0 (degree) with

respect to the X-axis.

The configuration of pieces after collision is shown in the figure.

The value of 8 to the nearest integer is __

After Collision

AY

» X axis

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 864351475 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

69IEN 10 kg 99¢ 9% mjnﬁxn s~1 6eeeR X -214 696 b9t We 29diee 491 20 kg 94¢
QFa 2y 9@ OREG YR CLRI | MR €60, A ORE B Qi 6Uf 218l 99° §elY QRE AAIR
QEEEER YR8 CRIRGRI | 2 ¢a g 66IEY 10 m/s 69G6R Y -AVERE GGaal | GO Hab
20 m/s 6996R X 2F 99 0 6514 9Y7 @A °6 KELIq 29 AR |

(GREF g&al 9660 GaIRE)

0 @ R Fecen gdoralica 2es

After Collision

» X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351476 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider a 20 kg uniform circular disk ol radius 0.2 m. It is pin suppcrrted at its center and

is at rest initially. The disk is acted upon by a constant force F=20 N through a massless
string wrapped around its periphery as shown in the figure.

/" ) R
My
{ ‘"ﬁ.
[ o |
o))
| {: .
\ /
\ e
\“‘m._ . s
¥
F=20N

Suppose the disk makes n number of revolutions to attain an angular speed of 50 rad s L

The value of n, to the nearest integer, is

|Given : In one complete revolution, the disk rotates by 6.28 rad]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 864351476 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



0.2 m QUQIF 84 20 2.916 9@ 909 YR §3(T9 )] 9916 @6 | 9T 9He fI6e 6 BegIes

e

4@ O8 F60 (G40 6ae) 2936 | ¥e 99RE217 g0l QIR gRIKIRae @9 QU6 1@ gel 1l 69

9Q §9e F=20N geaie «aIing | (9660 @919IRg)

ra .
7 R
|'r F ﬁl"
'. c &
\ /
\,&___ ) .
-
F=20N

A6ea8 @48 n 29 g4de 96a 50 rad s~ ! 6T 69C6R Q9T |
neeedaee 0 |
(668 a°gd Qeinen 9 Q6a 6.28 rad)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 864351477 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the logic circuit shown in the figure, if mput A and B are 0 to 1 respectively, the output at
Y would be "2,

The value of x is

Ae DO_
E

2

B &—>0 1

Response Type : Numeric

D=




Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 864351477 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

006a MARER AeR JR02F6R, 4G A 9e° B G6ed (@9ge) QaIgen 0 8 1 99° Y 0I6a
QREEH 629 ‘1 |

X Q e 629

A e

)

)
Be—fbo—— | P

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 864351478 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the figure given, the electric current flowing through the 5 kfl resistor is ‘2" mA.

3 ki)
5 lll'ﬂlﬂl'r'ﬂ'n'lll'f
i 3 k0
VN 3; r[;l i :i

I:
21V, 1kQ

The value of x to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 864351478 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Q8 ©gen, 5 k() goeaid FrI6ea 9P 9948 6316 B6S ‘X’ mA

3 k()
5k W
—F‘I‘LII.‘I\III‘.I\I;‘II‘I!I llI'i"ll'r'r"nllh'-,-'
3 KL
M LA R'RY v
] |
21V, 1k}

FREeR gaaseiiea x & Ry 699

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351479 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A fringe width of 6 mm was produced for two slits separated by 1 mm apart. The screen is
placed 10 m away. The wavelength of light used is “x" nm.

The value of ‘x" to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 864351479 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



1 mm 90660 8% 9af 89 (de) el agr G5 99 6 mm 266 | 0RGIT 10 m 9RFI6R AKIRE |
P0G ZICARTH o 69¢Y ZES ‘' nm |
QR00A QEaraes ‘¥’ @ feM 68Q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351480 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The resistance R = ¥ , Where V=(50£2)V and I=(20£0.2)A. The percentage error in R is
I
‘x %.

The value of “x” to the nearest integer is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 864351480 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Qe geemial R =

%. 6AR0IER V=(50+2)V ¥@° I=(20+02)A | R 68 Qg2 909 8

266 x% | FREeN geacHien ‘X’ @ ARy 266

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A



Section Id : 86435133

Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435133
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 864351481 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason R :
Assertion A : The H- O~ H bond angle in water molecule is 104.5%,

Reason R : The lone pair - lone pair rr:pulsinn of electrons is higher than the bond pair

- bond pair repulsion.

In the light of the above statements, choose the correct answer from the options given
below :

Options :

643511441 Both A and R are true, and R is the correct explanation of A

Both A and R are true, but R is not the correct explanation of A
8643511442.

8643511443, A is true but R is false

86435 1444, '\ 18 false but R is true

Question Number : 31 Question Id : 864351481 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GP60 Q6T 3 TUAIRE : 60IET QEQIT A 99° BGT RIQE R

QRIS A : 990 H-O - H 98 621§ 104.5° 266 |

QG R : QR Q6RQE 6AIP - YRR ARG S 6UIg 9294 QE6UIP - R6AR Fadd 019
dtle |

Q96RI% 98 29aes, FOnge 998 fiE 908 RERT QIg |



Options :
8643511441, Bk A 9" R Q@Y 26L 96" A @ Qa0q QI 628 R

0643511447, @98 A 96° R Q64 260 §9 A @ Q0Q QUiet R 969

8643511443, A 96" @ R Hle 26

8643511444, A G241 @2 R Q64 266 |

Question Number : 32 Question Id : 864351482 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
Industrial process Application
(a) Haber's process (i) HNO, synthesis
(b) Ostwald’s process (i) Aluminium extraction
(c) Contact process (iii) NH, synthesis
(d) Hall-Heroult process (iv) H550, synthesis

Choose the correct answer from the options given below :
Options :
8643511445, (@), (B)-(1), (c)-(H), (d)-(iii)

8643511446, @ (D), (B)(1), (iv), (d)(ii)
8643511447, (@r(), (b)-(iid), (€)-(iv), (d)-(1)

s643511448. 2T (D), (B)-(iv), ()-(0), (d)ii)

Question Number : 32 Question Id : 864351482 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



eImal - 1l 286 oImel -1 § dai .

QIaR! - 1 QIERI - 11

&g gaia gqeaue
(a) @eaE gaIM (i) HNO,; @424
(b) 2w gaie (i) aRHARen FUas
(c) eaig ga (i) NH, oreqae
(d) 9R-626aI5 g (iv) H,S0, 2°6g8d

GRS fae A0! 88T Q19 :
Options :
8643511445. (@), (b)-(i), (c)-(ii), (d)-(iii)

8643511446, @ (i), (b)-(1), (c)(iv), (d)-(ii)
2643511447 (@)-(H), (b)-(iii), (c)-(iv), (d)-(i)

8643511448, (@-(HD), (B)-(iv), (c)-(1), (d)-(ii)

Question Number : 33 Question Id : 864351483 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A group 15 element, which is a metal and forms a hydride with strongest reducing power
among group 15 hydrides. The element is :

Options :

8643511449, Bi

8643511450. P

8643511451, 18

8643511452. Sb

Question Number : 33 Question Id : 864351483 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

glg 15 62 @ 6FlEe Y& & eae ¥e° a9 6HIReR 2GEIRETe ARIRd SA6! 632 gae ey
PIRGINEGER0 FRIGE AF6 01 ARG 9P |

ARG 6288 :

Options :



8643511449, Bl

8643511450. P
8643511451, S

8643511452, °F

Question Number : 34 Question Id : 864351484 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process that involves the removal of sulphur from the ores is :
Options :

8643511453. Refining

8643511454, oasting

8643511455, Smelting

8643511456, caching

Question Number : 34 Question Id : 864351484 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
dIgaag ARTE FALUFY gEIT c9aE -
Options :

8643511453, "=

8643511454, S0IHE

alaTale)
8643511455.

8643511456, “Hl@@

Question Number : 35 Question Id : 864351485 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : HED."»'_ can act as both oxidising and reducing agent in basic medium.

Statement Il : In the hydrogen economy, the energy is transmitted in the form of
dihydrogen.

In the light of the above statements, choose the correct answer from the options given

below :

Options :

8643511457, Both statement I and statement 1l are true

8643511458, Both statement I and statement 11 are false

8643511459, Statement [ is true bul statement 1l is [alse

Statement 1 is false but statement 11 is true
8643511460.

Question Number : 35 Question Id : 864351485 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QF6Q QET @9 LIRS

a1 : Figig Aifea H0, 080 §109, ¥96° GFI0R 168 RI9IREea |

@S Il : DREEIERS Aoidel 86, W90 95 CIRANCLIERR U6 L°TIHe @4 |
AUERIe U 296, FORYe 9Rg fug A0S @eety QIg -

Options :

8643511457, Wl as 1 99° 9@ 11 964 26% |

Q0 28 I 99° @@ II fay 2169 |

8643511458,
2643511459, A% 1 96 @3 v 11 2Nl 2ee |
c64351 1460, 0O 1 T2 G2 @8 I @6y 268 |

Question Number : 36 Question Id : 864351486 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement I : Both CaCl,-6H,0 and MgCl,-8H,O undergo dehydration on heating,

Statement Il : BeQOis a_mphcrteric whereas the oxides of other elements in the same group

are acidic.

In the light of the above statements, choose the correct answer from the options given
below ;
Options :

8643511461 Both statement I and statement Il are true

Both statement 1| and statement 1l are false
8643511462.

2643511463, Statement 1 is true bul statement 11 is false

2643511464, Statement 1 is false but statement 11 is true

Question Number : 36 Question Id : 864351486 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QC60 QET G2 YUILIRE :

e 1. @88 CaCly6H,0 9a° MgCl,-8H,O ¢af R6R Faniaad c2iaals |

a8 I1:  BeO enoddl 6000a Q7I® 9U6R 29 85 6FIRae B0 gow s 2Ied |
RUEQIE @8 2Qaee, FORde 9ag fug A0R eedq QI :

Options :

2643511461, @@ 199° @@ 11 Q0L 954 26T |
2643511462, @3 196" @8 11 eaa 2 6o |
8643511463, @S 1 964 @3 @@ 11 Fai 266 |

8643511464, Ww 1 P2l 02 v 11 964 266 |

Question Number : 37 Question Id : 864351487 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - 1 with List - 11 :
List - 1 List - 11
MName of oxo acid Oxidation state of I

(a) Hypophosphorous acid (1) +5

(b)  Orthophosphoric acid (i) t4
(c) Hypophosphoric acid (i) +3
(d) Orthophosphorous acid (iv) +2

v +1

Choose the correct answer from the options given below :
Options :
8643511465, @F V), (B)-(iv), (c)-(ii), (d)-(iii)

8643511466, @-v), (b)-(1), (c)-(i), (d)-(iii)
8643511467, @rv), (b)-(v), (c)-(11), (d)-(it)

2643511468, @r V). (B)-(1), (c)-(i), (d)-(iii)

Question Number : 37 Question Id : 864351487 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AR -1 § Q@ - 11 986 Fxia -

IR - 1 IR - 11

IR R FATAYR FIQE 2l
(a) Q@60 gQoea &g (@) +5
(b) @eal aaafe 2 (i) +4
(c) 9EE gATeE &F, (i) +3
(d) @edl oeaeq e (iv) +2

(v) +1

Foage Gag aug abe @eedy QI8 :
Options :

8643511465, @) (V), (B)-(iv), (c)-(ii), (d)-(i)
8643511466, @Fv), (b)-(1), (c)-(ii), (d)-(ii1)

2643511467, @F V), (b)-(v), (c)-(i1), (d)-(ii)



8643511468, @ V), (B)-(1), (c)-(ii), (d)-(iii)

Question Number : 38 Question Id : 864351488 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statement : one is labelled as Assertion A and the other is labelled as

Reason R :
Assertion A :  Size of Bk?* ion is less than Np?* ion,
Reason R : The above is a consequence of the lanthanoid contraction.

In the light of the above statements, choose the correct answer from the options given
below :
Options :

2643511469, Both A and R are true and R is the correct explanation of A

Both A and R are true but R is not the correct explanatic-n of A
8643511470.

8643511471, /A is true but R is false

8643511472 A is false but R is true

Question Number : 38 Question Id : 864351488 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qe 9T G QUIQIRE | 6EI0Y QERIB A ¥S° 2GYE QIQ8 R |
QERIS A : B3t 21000 21910 Np*+ 2106 260! @F 89 266 |
@6 R : 206096 AIZIFIEE QERI9NE IRITR HEE |

QY61 BF 2QAER, 7F) g8 9 (6 A0 @eeT U9 :

Options :

8643511469 @EIE A G° R @Gy 268 9e” A @ Q0Q Qg 6968 R |

] Tl IR & Ta' ypesy| il I
643511470. Ml A 90° R 4ol 26% @ A @ 4OR QUisll @62 R

o4 #Iee B9 R oyl e
643511471 A €01 DT G R A1a 2ee |

2643511472, A 1M1 26C @3 R €@ 26T |



Question Number : 39 Question Id : 864351489 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I :  The E° value for Ce** /Ce* is +1.74 V.
Statement 1l : Ce is more stable in Ce?* state than Ce’ * state.
In the light of the above statements, choose the most appropriate answer from the options
given below :
Options :
Both statement I and statement Il are correct

8643511473.

2643511474 Both statement | and statement 1l are incorrect

8643511475, Statement 1 is correct but statement 11 is incorrect

8643511476. Statement 1 is incorrect but statement 1l is correct

Question Number : 39 Question Id : 864351489 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Qr6R Q0 K8 QUWILE :

@@ 1: Cett/Cet E qai +1.74V |

@@ I1: Cea Ce?t 2ea Ce?t zoa 26aal 2aw 89 |
AO6QIS B8 BRAIER, PONYe GRF fkg IR RIYS RENER I8
Options :

8643511473, 200 @8 1 96° @8 11 90Q, 26e

8643511474, 998 @9 1 499° @9 1l §F 26 |

2643511475, @@ 1 90Q 26e @3 @S 1l §A 26

3 wl, U6 T > :H';g mG
8643511476, @@ 1 96l 266 @3 @9 11 Q0@ 26e

Question Number : 40 Question Id : 864351490 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The type of pollution that gets increased during the day time and in the presence of 03 is :



Options :

Reducing smog
8643511477.

Oxidising smog,
8643511478.

8643511479, ‘xcid rain

8643511480, C0PAl warming

Question Number : 40 Question Id : 864351490 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O, QOH06R 9e° @F AAG6R 99 J98da dIIe 628 :
Options :

el e &
8643511477. A =

8643511478, EEl Q8

8643511479, b S

N T
8643511480, L1 GmIE B

Question Number : 41 Question Id : 864351491 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In chromotography technique, the purification of compound is independent of :
Options :

8643511481, ~ubility of the compound

264351148, Mobility or flow of solvent system

Length of the colurmn or TLC plate
8643511483.

2643511484, Physical state of the pure compound



Question Number : 41 Question Id : 864351491 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
69INIESIgIT coafacs cdden GeRead Gea 28RS 3985 6268 :
Options :

8643511481, SHIENG QQEGE

8643511482, 2968 86 @ gala

3643511483, 27 @Al TLC 69ga @A

Sae cdldoa eabe mogl
0643511454, 208 641508 6elEe 2eg

Question Number : 42 Question Id : 864351492 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Among, the following, the aromatic compounds are :

(A) <:>—CH2 (B)

S @

Choose the correct answer from the following options :
Options :
8643511485, () and (B) only

8643511486, (/) (B) and (C) only

8643511457, (0 (O and (D) only

(B) and (C) only
8643511488. /



Question Number : 42 Question Id : 864351492 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QORYe Qg AEAINIER 6T gEe CORE :

(A) —CH, (B)

© ®

ARiYe 9eg wlele) A0R RENTR L :
Options :
8643511485, (&) 98° (B) 6994

2643511486, (A) (B) & (C) emaq

8643511487, (B) (©) €& (D) e@ew

8643511488, (B) 967 (C) 6997

Question Number : 43 Question Id : 864351493 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fDHDwf_ng is Lindlar catal}fst 7
Options :
8643511489, Partially deactivated palladised charcoal

864351 1490, dium and Liquid NH,

Cold dilute solution of I'iCI"u"i'_'nw'C)4
8643511491.

964351149, Zine chloride and HCI



Question Number : 43 Question Id : 864351493 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FENGE 21Q Q 6RAG FORIe REETRS 7
Options :

8643511489, 2IER 00 ANSRSE, 2GS

2643511491 TMnO, @ 24l me] 94

64351149, . &6l 6 HCl

Question Number : 44 Question Id : 864351494 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;C OH H,C Cl

20% HaPO,
358 K

" A (CI 13}3 O~ Kt L

(Major Product) (Major Product)

The products “A” and “B” formed in above reactions are :

Options :
CH, CH,

8643511493.

CH, CH;

8643511494.



B —

CH
B =] ‘
Question Number : 44 Question Id : 864351494 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;C OH H,C Cl

CH,
3

A —

CH;
A —
8643511495.
CH,

8643511496.

ZUIJ'I:'" ] Ij,.[}();]: ”H” [(‘:l' 13]3 (-:D_ K + i Bu
33K (Major Product) (Major Product)

AUERID oRaIcn G906 agIe “A” 9e° “B” c2RgR .
Options :

I i

A — B —

8643511493.

TI 10 CH,4

& &

8643511494.



CH,

CH;

AN —

il ||
N @ .
8643511495.
CHy,

8643511496.

Question Number : 45 Question Id : 864351495 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o~/
i) DIBAL-H, Toluene, —78°C wpr
ii) H,O™ (Major Product)

The product “P” in the above reaction is :

Options :

CHO

8643511497.

<

7
f.TJ
as

8643511498.



CHO

8643511499.

COOH

48

8643511500.

Question Number : 45 Question Id : 864351495 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o O//(}
i) DIBAL-H, Toluene, —78°C wpr
ii) H,O™ (Major Product)

RUEQIS goaaen o100 aqie “P” 6998 :

Options :

CHO

8643511497.

8.8

8643511498.



OH

CHO

8643511499.

COOH

8643511500.

Question Number : 46 Question Id : 864351496 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Assertion A :  Enol form of acetone [CH,COCH,] exists in < 0.1% quantity. However, the
enol form of acetyl acetone [CH,COCH,OCCH,] exists in approximately
15% quantity.

Reason R : Enol formof acetylacetone is stabilized by intramolecular hydrogen bonding,

which is not possible in enol form of acetone.

Choose the correct statement :
Options :
8643511501 Both A and R are true and R is the correct explanation of A

2643511500, Both A and R are true but R is not the correct explanation of A

643511503, A is true but R is false

2643511504, A 18 false but R is true

Question Number : 46 Question Id : 864351496 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1



RERIS A : 936915 [CH,COCH,] 9 a9 2I9i9a afals <0.1% | 69 Q19 62a9 @8 1dba

436917, [CH,COCH,0CCH,] @ 287 28k ZIgaine ageid 15% |

Q8 R: CLORLRIE 2IREEIERE 9 Q0 1a0H €d6rIea pem IR 306! §1d ata Qi9i@

Q60NN GRR AINNEH G191 ARG D9 FIF |
A0® @50q g -
Options :
9643511501, @09 A NQ° R Q84 26E ¥@° A @ Q0] gl €998 R |

8643511502. Beg A 99° R 994 26T @2 A @ 90q Q4isHl ge% R |

8643511503, A 96" 2EE @ R w1 2ee |

8643511504, A F1EI 266 @3 R @64 266" |

Question Number : 47 Question Id : 864351497 Question Type : MCQ Option Shuffling : Yes Is Question

Mandatory : No
Correct Marks : 4 Wrong Marks : 1

NH, OH

NaNO,, HCl
273278 K

i Xl” e A.l'.f z
" o

Major Product

In the above chemical reaction, intermediate “X"” and reagem/ condition “A" are :
Options :
NO,

K ;  A- H,0/NaOH

8643511505.



N,CI~

X - ;  A- H,0/A
8643511506.
+
N, Cl—
X - ;i A- HO/NaOH
8643511507.
ND;;_
X - ;A Hz(.jf.i
8643511508.

Question Number : 47 Question Id : 864351497 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
NH, OH

i A!l‘

NaNO, HCL .,

73978 K

Major Product
ROERIS QYIRS gRAIEe, e8] “X” 99° 2Hede /a8 “A” cRe8R .

Options :



NO,
X - [::%::] : A- HyO/NaOH
8643511505,
N,CI~
X @ i A- H0/A
8643511506,
+
N,Cl—
X - i A- HyO/NaOH
8643511507,
NO,

%~ {:::%::::} ;  A- H,O/A
8643511508.

Question Number : 48 Question Id : 864351498 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction DOES NOT involve Hoffmann bromamide degradation ?

Options :



0O
||

CHQ T C T CH:} CHZ - NHE
i) Br,, NaOH/H *+
ii) NHs/ A
8643511509. e U
O
I
O/ Br,, NaOH
8643511510.
NH,
¢l

i) NH,, NaOH
ii) Br,, NaOH

o

8643511511.

CN NH,
i) KOH, H,0

»~

ii) Bry, NaOH

<

8643511512.

Question Number : 48 Question Id : 864351498 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gofde 69 gORAIT 207IR 6RININIRG BYRNE Q86 208 F69 ?

Ll

Options :
O
[
i) Bry, NaOH/H*
ii) NHs /A

8643511509. iii) LiAlH,/H,0



Il
CHE_C_NH'; CHE_NHE

Br,, NaOH

B
>

S

8643511510.
)
| NH,
Cl
i) NH;, NaOH
8643511511. ii) Bry, NaOH
CN NI,
i) KOH, H,0O
ii) Br,, NaOH
8643511512.

Question Number : 49 Question Id : 864351499 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The functions of antihistamine are :

Options :
8643511513, ntiallergic and Analgesic

8643511514. Analgesic and antacid

Antacid and antiallergic
8643511515.

3643511516. Antiallergic and antidepressant

Question Number : 49 Question Id : 864351499 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
9322000 QIdIgRe 608
Options :



ERIaER 9e° YRIesed
8643511513, TIRERR, MG MRIRCEAC

8643511514, IFINERAR 1Q° gorR

8643511515, SOUE 9° 2R

-'i" l""\“ T\ .'I A E:""“"_.:
8643511516, o FIMIQEE, o* AIYLeYAS

Question Number : 50 Question Id : 864351500 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following pairs of Vitamins is stored in our body relatively for longer
duration ?

Options :

8643511517, Thiamine and Ascorbic acid

2643511518, Vilamin A and Vitamin D

8643511519 Thiamine and Vitamin A

Ascorbic acid and Vitamin D
8643511520.

Question Number : 50 Question Id : 864351500 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GORWe a9 600 H0Ifa AIRIT 21T 491960 BEORIRG BNE QA GF0 QBN ¢
Options :

8643511517, QTR NQ° NARAER 2F)

8643511518, =€1A8 A ¥&° QG1AG D
o AUAR 9Q° GISIFIR A

864351151

8643511520, “920@@ 2¢ <e° Gie1da D



Chemistry Section B

Section Id : 86435134
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435134
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 864351501 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 6.50 molal solution of KOH (aq.) has a density of 1.89 g cm . The molarity of the solution

is ~ mol dm 3.

[Atomic masses : K : 390 u; O : 16.0 u; H : 1.0 u]

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 864351501 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6.50 cAiRiR, KOH (aq.) 9940 Q196! 1.89 g em ™3 | Q940 EAIGIOT 6298 _ mol
dm~3 | (FRoef gdaeicn dade a9)

[Z1869 @29 : K:39.0u; O: 16.0 u; H : 1.0 ]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351502 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A certain element crystallises in a bee lattice of unit cell edge length 27A. 1f the same element
under the same conditions crystallises in the fec lattice, the edge length of the unit cell in A will
be . (Round off to the Nearest Integer).

[Assume each lattice point has a single atom]

[Assume V‘ﬁ =173, J2 =1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 864351502 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

6EIEY U9 QUIRIR 99 GRGT 6am A4 @ 27A bec MITQER QIQI QI6R | 90 6QF RAINF AF
Zegl F1IER for MITACR QR QIR 6P6Q IRT CIRR "r]{‘ AN AecREEe | (GFegen
gelaranie)

(URIQIR NIEQ SNeR 6RITN SRl 28, 3 =173, V2 =141)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 864351503 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

When light of wavelength 248 nm falls on a metal of threshold energy 3.0 eV, the de-Broglie

wavelength of emitted electrons is A. (Round off to the Nearest Integer).

[Use : 3 =173, h=663x10"* Js
m, =91x10"3 kg ; ¢=3.0x102 ms~1; 1eV=1.6 x 10~ 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



100

Question Number : 53 Question Id : 864351503 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

248 nm Q& 63¢1 QI 2I6AIR CHEEEIER R Mg K2R gIoAe 98 3.0 eV QU6e 969, Ge
RERG. G0 PLORIE oA adY A 26 | (Peeen gderaien 089e @a)

[©492m @8 : /3 =173, h=6.63x10-3¢]s
m,=9.1x10 3 kg ; c=3.0x10° ms™!; 1eV=1.6 x10 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351504 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction A(g) — B(g) at 495 K, A.G"= — 9478 k] mol 1.

If we start the reaction in a closed container at 495 K with 22 millimoles of A, the amount of

B in the equilibrium mixture is millimoles. (Round off to the Nearest Integer).
[R=8.314] mol 1 K !; In 10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 864351504 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QeqaIe 495 K 6a A(g) = B(g), A,G°= -9478 k] mol ! @& 495 K cigeigiea 22 HGeIng
A Q@0 9@ QO JIgER JORYl ZioR SN I62eR AINY a8 B @ 988 A&
6FIad 268 | (Froen gaeralca afids a9)

[R=8.314 ] mol ! K™ ! ; In 10=2.303]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal



Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351505 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AB, is 10% dissociated in water to AZ* and B~. The boiling point of a 10.0 molal aqueous
solution of AB, is C. (Round off to the Nearest Integer).

[Given : Molal elevation constant of water K;,=0.5 K kg mol ! boiling point of pure water
= 100°C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 864351505 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AB, @263 10% 21§ 9291694 @5 A2+ 9e° B~ 93 @83 | 10.0 671IRIR, AB, @910 9968 969l
6908 __ °C | (Peeed gderdice asde @)

(98 : P96 6RIRIG QR deis K,=0.5 K kg mol I Qg8 @00 999w = 100°C)
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 864351506 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two salts A,X and MX have the same value of solubility product of 4.0 x 10~ 12, The ratio of

S (AX)
their molar solubilities i.e. W = . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 864351506 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QE‘L‘;‘ ARE A,X 9e® MX @ Qrie Qedikel gadae 4.0 x10 2| gupiese 6ARIe 99d190R

S (A5X) ~ | .
ZRIE m = ZEE | (FWEen gaaieiien dade aa)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 864351507 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2MnOj +bC03 +cH" = xMnZ* +yCO,y +2zHy0

If the above equation is balanced with integer coefficients, the value of ¢ is
(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 864351507 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 MnOj +bC,07 +cH* - x Mn?* + y CO, +zH,0

A9 RO6aIe AMReaS gEac Q9d QIR AAGR ARG, cR gAY B6e | (Feeed
geacsiien at€e «a9)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 58 Question Id : 864351508 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The decomposition of formic acid on gold surface follows first order kinetics. If the rate
constant at 300 K is 1.0x 10 ~° s~ ! and the activation energy E,=11.488 k] mol I the rate
constant at 200 K is x10"2 s~ 1, (Round off to the Nearest Integer).

(Given : R = 8314 Jmol 1 K~ 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 864351508 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
4o BYe WiceR Tofiq 2ae Qe gaNgs E"EE‘.GQ@G{E{_ dRdad @6 | 300 K @ignlglen da 2
doie 1.0x107 % s~ 1 we° 9REel 98 E,=11.488 k] mol ! @4, 200 K 9190868 @6 Fou&
— %102 s=1 2ge |
(Paced gdasecn 9649 @)
(@8 :R = 8314 Tmol "1 K1)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 864351509 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalents of ethylene diamine required to replace the neutral ligands from the
. (Round off to the

coordination sphere of the trans-complex of CoCly4NHy is
Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal



Text Areas : PlainText
Possible Answers :

100

Question Number : 59 Question Id : 864351509 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

6IgR67@ CoCl,4NH, 9 @Aga1 6anes Fegin fdi@ geq 5120 959l diB 2I99ie RaRea
QIRAS ealie 6208 | (Ge0ef g4tdiice dade @9

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 864351510 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Complete combustion of 750 g of an organic compound provides 420 g of \CD2 and 210 g of
I-IED. The percentage composition of carbon and hydrogen in organic compound is 15.3 and

respectively. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 864351510 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
750 g 659 cdIGeq a°gd 999 @w 420 g CO, €97 210 g H,O fRar | 669 edlfacs 1098
49”° DIRERIERE0 0% Fga aaiged 15.3 99° 1 (Feced q€§€*’%1lli':3#3? dade /a )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Mathematics Section A

Section Id : 86435135
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435135
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 864351511 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i il . - 5
Let A= { i w, i = /=1 . Then, the system of linear equations .-"x&'{ ] = { w has :

{ -
Options :
8643511531, Vo solution

A u_nique splubion
8643511532.

8643511533, Infinitely many solutions

E ; -LI T bW 1 v :
8643511534, xacty two solutions

Question Number : 61 Question Id : 864351511 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1
| E i E '8
flepme A= =
y L33

i = JT1| 6069 9@qQIe anead age A® g :

O

ca

o

Options :

8643511531. CFallE i

8643511532, 4@ AEQ dARe

2643511533, 2@I(260q) aalug



D& GResld ang
8643511534, ~ * =

Question Number : 62 Question Id : 864351512 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let the functions f: R — Rand g : R — R be defined as :

x<0 2 x <1

T () '
x)= . x)=
A [ xz, x =0 and & 3x -2, x =1

Then, the number of points in R where (fog) (x) is NOT differentiable is equal to :
Options :
8643511535, U

8643511536, 1

[

8643511537.

2

8643511538.

Question Number : 62 Question Id : 864351512 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f
Aeeee 096 ftR— R9e* g:R—- R g8q f(x)=1 , D

3
’ <1 _ = e = _ =
g(x)=1, % ' T | 9169 00RI8E SAIEIRE | 6R6P a9F (bg) (x) § LOGERIA RARYS
3x -2, x=
QIZQ FRAIGTR QN AR :
Options :

8643511535, U
8643511536, 1

8643511537, 2



8643511538,

Question Number : 63 Question Id : 864351513 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x y+4 z+2
Let P be a plane Ix+ my+ nz=0 containing the line, 1 -4 ) If plane P
divides the line segment AB joining points A(—3, —6,1) and B(Z, 4, — 3) in ratio k : 1 then

the value of k is eq_uaI to :
Options :
8643511539, 2

8643511540, 1.2

8643511541, 3

8643511542, 4

Question Number : 63 Question Id : 864351513 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=
W
4

1— x z + 2 2
Aeaae Ir 4 mif + nz =0 95 dfee P, di¥ adea 1 = = 3 & 6EE | g9

AFee P, 89 A(—3, —6,1) ¥9° &2 B(2,4, —3) @ 6AIIRQ2S! 60%I4E AB q k:1 2201060 689
R6Q, 6969 k @ RN QMG :

Options :

8643511539, 2

8643511540, 1-5

8643511541, 3

8643511542, 4

Question Number : 64 Question Id : 864351514 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If for a > (), the feet of perpendiculars from the points A(a, — 2a, 3) and B(0, 4, 5) on the plane
Ix + my +nz=0 are points C(0, —a, — 1) and D respectively, then the length of line segment
CDis equal to :

Options :

8643511543. ol

8643511544, V6O

8643511545, V41

=
8643511546, ™ 35

Question Number : 64 Question Id : 864351514 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q@ (a>0 Qie) Ix+ my+nz=0 ANES BUER, 39 A(a, —2a, 3) 9&* IR B(0, 4, 5) 0Ig 2&EE
RAFIREE Q96 aagen C0, —a, —1) 98° D 94, 6962 cadlisda CD @ CLEd QaIG
Options :

8643511543. ol

8643511544, VOO
8643511545, V41

=
8643511546. * 35

Question Number : 65 Question Id : 864351515 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider three observations a, b and c such that b=a +c. I the standard deviation of

at2 b+2 ct2isd, then which of the following is true ?

Options :
2 ar.2 2 2

8643511547, 0 — @ +c7) —9d

2_nr.2 ¢ o2} 4942
8643511548, 0 —o@ T)+9d



2 4 2 7
8643511549, b"=a"+c=+3d

8643511550, 2@ +tctHd)

Question Number : 65 Question Id : 864351515 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OR6RIT dyea@d a, b 96° ¢ @ I9IQ @R 6UUGE b=a+cl 98 a+2,b+2,c+2 Q AUIAE S

(e CeEeas) d 260, 666a MG 6RUWE A6 7

Options :
2 ar.2 2 2
8643511547, ' — (@~ +c)—9d
R, S N -
8643511548, 0 —o(@ T€7)+9d

| 2 2 2
8643511549, b-=a~+c~+3d

8643511550, 2@ et Hd

Question Number : 66 Question Id : 864351516 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fa o

A, e Fa e
Let the position vectors of two points P and Q be 3i — j + 2k and  + 2 — 4k,

respectively. Let R and S be two points such that the direction ratios of lines PR and QS are

(4, 1, 2) and (—2, 1, — 2), respectively. Let lines PR and QS intersect at T. If the

vector TA is perpendicular to both PR and ES and the length of vector TA '15.\."5 units,
then the modulus of a position vector of A is :
Options :

8643511551. ﬁ

8643511552, Y171



227

8643511553.

8643511554. 4

Question Number : 66 Question Id : 864351516 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

™, ! g

A6R09 9n6 82 P 1e° Q @ 86 a5 (P.V) Q2IQ6A 37 — j + 2k 99° i + 2] — 4k | R <&
S Q@6 Gg 6096@ eadl PR 9e° 6adl QS @ Gaig 2guUe (dr) Qaigen (4, -1, 2) 9e°
(-2,1, -2) | 96Re8 6agll PR ¥e° QS, T 996R 680 @08 | 9@ GaiF TA 294 89i§ PR 6

oS @ @A 9@ 99° 999 6LEN J5 @9, 666w Qg A 9 80 G9IT9 CeAIe 26 :

Options :

.

8643511551.

J171

8643511552

227

8643511553.

NI

8643511554

Question Number : 67 Question Id : 864351517 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A A, A A,
Let a vector i B be obtained by rotating the vector /3 i by an angle 45° about the

origin in counterclockwise direction in the first quadrant. Then the area of triangle having

vertices (w, (), (0, B) and (0, 0) is equal to :
Options :

B

8643511555.

8643511556, 1



Y

8643511557. ~

1

8643511558. V2

Question Number : 67 Question Id : 864351517 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A

i e ¢ 8 ey s - ey s
gan a1eea, g F9068 Gas J3i + j | 998 F991e 968 45° QRIGER, FAIF ai + Bj

deq | 6969 (a, B), (0, B) €9° (0, 0) 9195Q 9% G9@a CHETS AAIS

Options :

R =

8643511555.

—

8643511556.

8643511557. ~

8643511558. V2

Question Number : 68 Question Id : 864351518 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of roots of the equation,

{Bllﬁil'l:l' | {SI}L':HEI — 130

in the interval [0, =] is equal to:

Options :

(]

8643511559.

Lad

8643511560.

8643511561.

8643511562, B



Question Number : 68 Question Id : 864351518 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[0, 7] 2eRIREn ANPRS (81 F + (81)°% * =30 Ta go(91R) ey QI ;
Options :

(]

8643511559.

[F8 )

8643511560.

8643511561.

8643511562, B

Question Number : 69 Question Id : 864351519 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A pack of cards has one card missing. Two cards are drawn randomly and are found to be

spades. The probability that the missing card is not a spade, is :

Options :
o)
A75
8643511563, 22
52

8643511564, 867
39
8643511565, 2V

3
8643511566, +

Question Number : 69 Question Id : 864351519 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M@ B19 FO6R 6ITY 1Y 2728 | 9RF ¢Id ARER! 6 G QIF 6RHIGRI 64 SaE T&2 (spade) |

RURAS 9108 98 BFY Q6D, Y@ RIS 6T -



Options :

8643511563.

52
8643511564, 867

3
8643511565, 2V

3
8643511566,

Question Number : 70 Question Id : 864351520 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The range of aeR for which the function

f(x)=(4a — 3) (x + log.5) + 2(a — 7) Cﬂt[

[

A -
'? X 2
J sSin ;J x #2nw, neN has critical points,

m|H

is :
Options :

[1, =)
8643511567.

(2 —1]
8643511568
57
1.’
8643511569. -
8643511570, L )

Question Number : 70 Question Id : 864351520 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-.-. ™ . x b . oaf x
acR (9199) @ Q. caay aie are f(¥) =(4a - 3) (x +log,5) + 2(a ﬂcm[;WSm‘f;
o J s

r

x # 2nm, neN Q QIR1G 09 Q8. 019 260 :

Options :



8643511567, 17 ™)

(= 92 =1l
8643511568
57
a
8643511569. -
8643511570, L )

Question Number : 71 Question Id : 864351521 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If n is the number of irrational terms in the expansion of {3‘.1 | 5}-3‘ ]ﬁ'D , then (n — 1) is divisible
by :

Options :

8643511571. -

oo

8643511572.

2
8643511573.

™~y

8643511574, /

Question Number : 71 Question Id : 864351521 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; 60 o ,ﬁ 2

(37 | 5?-'5,-] o gaiaden, AUk denifwa %6l I n 99, 6069 (n—1) QuIEY RIRVIQES
QoeIg :

Options :

8643511571. ~

oo

8643511572.

2
8643511573.



8643511574, 7

Question Number : 72 Question Id : 864351522 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let [x] denote greatest integer less than or equal to x. If for neN,

3 2
l ay; +4 >_d A2;4+1 is equal to:
=0 =0
Options :
an—1
8643511575. =

8643511576. 1

3

8643511577.

8643511578, 1

Question Number : 72 Question Id : 864351522 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Aeg@a [x] 9494 a9 1Y & EIMG}'Q”%PI x 0lg, 9di® Q@ x 92 Qx| 99 neN alg

B ]

: 2
(1 I|1w=l%ﬂﬁ%@lﬁh|4¥'&r anlg :
=0 j=0 =0

Options :

=

8643511575.

8643511576, 1

[

8643511577.



8643511578, !

Question Number : 73 Question Id : 864351523 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following Boolean expression is a tautology ?
Options :
Y A A N
8643511579. APV

8643511580, P DV P =)

f"\ .-*‘- ‘I
8643511581, P VAP =9

5 R —_—F .
8643511582, £ D 7= 9)

Question Number : 73 Question Id : 864351523 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gf) 606 9R2R ef 99 Qe (C6eIeaIR) 7
Options :

8643511579, pAgipYa)

8643511580, P DV P =)
Ay Fi% i
8643511581, P DA P =9

. A —F .
sea3siisg2. P D> @9

Question Number : 74 Question Id : 864351524 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
k ! 6!"

2r+1 |- Then ;_’: Sk s equal to :



8643511583.

8643511584. %

8643511585.

t
8643511586.

Question Number : 74 Question Id : 864351524 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

k T
3 = (&) 2 .
e . 1
Aeeaa Sk = Eﬁtﬂﬂ I o7+l || 6668 £f1‘5kqgmw:
= L o > P
Options :
m
B
8643511583. <
1 (3)
cot :
8643511584. L 4
; L (3)
8643511585. =

8643511586. !

Question Number : 75 Question Id : 864351525 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of elements in the set {xeR : (x| —3) x +4 =6} is equal to :
Options :
8643511587 1

8643511588, 2



8643511589,

8643511590, *

Question Number : 75 Question Id : 864351525 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
698 {xeR : (x| —3) [x+4| =6} 65 RAIQIe Qe AU -

Options :

=1

8643511587.

-2

8643511588.

8643511589.

e

8643511590.

Question Number : 76 Question Id : 864351526 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i %

If for xe | 0, % |, log,gsinx +log,scosx = — 1 and log,y(sinx +cosx) = 5 (log,,n—1), n > 0,
o

ul»—-'

then the value of n is equal to :

Options :

8643511591. 9

=t
o |

8643511592.

16
8643511593.

[
=]

8643511594.

Question Number : 76 Question Id : 864351526 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(logypn—1),n>0,

hJ|Pﬂ.

4@ xe 1[], ;| g, log,gsinx + logypcosx = —1 9%° logy(sinx + cosx) =
7

6069 n & WY QFIR :

Options :

8643511591. 2

8643511592, 12

8643511593. 16

8643511594, 20

Question Number : 77 Question Id : 864351527 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i

i Y
If y=y(x) is the solution of the differential equation, % t 2ytanx = sinx, y{ J = 0, then

| =

the maximum value of the function y(x) over R is equal to :
Options :
8643511595, 8

I»J||—'.

8643511596.

15

8643511597. 4

.
8643511598, O

Question Number : 77 Question Id : 864351527 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3

-~ odt . (T
de y=y(x), E’f F 2ytany = siny, y[ ?J = 0, 2ee@ QR4 dAkIe 26g, 666e TOaa y(x)

A YNG9 Flm Qale
Options :



oo

8643511595.

I»J||—'.

8643511596.

8643511597. 4

5
8643511598, 8

Question Number : 78 Question Id : 864351528 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The locus of the midpoints of the chord of the circle, x>+ y>=25 which is tangent to the

3

£

3

X If .
hyperbola, — — =— =1 is:
YP 9 16

Options :
2+ y?)2 - 9x% + 1442 =0
8643511599, & 1Y) 9x ¥

'2 2 2 _2 . 2_
8643511600, & 1Y)77 9x~16y7=0

2+ 32 - 9x2 4 16y2=0
8643511601.( j} s

2643511602, X HYH)F 162749y =0

Question Number : 78 Question Id : 864351528 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2 2

y o o P ) - X | _ I,
2 +y?=25 Qaa il AIewe AUELAIREa QeI g2, Q19| o % =1 2gagsaial (e1doe
2E0RI9Ra 696) 96 4R, 0191 Z6E
Options :

2+ y?)2 - 9x% + 1442 =0
8643511599, & T¥7)7—9x y



24+ 32 -9x2 - 16y2=0
8643511600. { Y ) ¥

2+ 32 - 9x2 4 16y2=0
8643511601.( s } s

s643511602, (& T¥7)?—16x%+9y*=0

Question Number : 79 Question Id : 864351529 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the three normals drawn to the parabola, y2=21' pass through the point (a, 0) a=0, then
‘a’” must be greater than :

Options :

8643511603, 1

8643511604. 1
1
2
8643511605, =
1
-
8643511606. =

Question Number : 79 Question Id : 864351529 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@@ 12=2x CREIIRl (06Qa) 96 aFe 6G6aIE A B2 (a, 0) a2 0, (U 6a@ 06 F6R, 666 ‘a’
Q QIf 8o RI96a (RILI0I9) 9F :

Options :

8643511603, 1

8643511604.

r~J|n—"

8643511605.



Ba | =

8643511606.

Question Number : 80 Question Id : 864351530 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: zi + 11
Let a complex number z, z'+ 1, satisfy log 4 — | £2. Then, the largest value of
2 \z =17
zlisequalto _____
Options :

8643511607.

8643511608, ©

=

8643511609. *

8643511610, S

Question Number : 80 Question Id : 864351530 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A6eRa z @ fg el (R6aa aeu), [ziz1, A9 log

2, deif 98 @6 |
\_-'E{— 1= )

| .'*'.

6669 |z| @ QRIS R AAIQ

Options :

8643511607.

8643511608, ©

=

8643511609. *

8643511610, 5

Mathematics Section B



Section Id : 86435136

Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 86435136
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 864351531 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

z + 1
£‘=1 and Re (w)

z — 3

Let z and w be two complex numbers such that w = z= 2z +2

has minimum value. Then, the minimum value of neN for which w" is real, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 864351531 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

z + I

7 — 31

AR z ¥e° w 9T 8 (@6H7) el 629m w = zZ — 2z + 2, ‘ ‘ =1 9@° Re (w) @

9@ QeFE ey U8 | 6669 neN @ AQFF faY, 60RE iRt w" QY 699, FIY AAIR _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351532 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



4
Letf: R — R be a continuous function such that fix) + filx +1)=2, forallxeR. If I} = _I‘f(.r]dx
0

3

and I, = Ip.l"{x}dr , then the value of I, + 21, is equal to _
-1

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 864351532 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6999 f: R — R 99 28059 997 6099& fiX)+f(x+1)=2, xR @ 973 Q199 g IR | &9
8 ' 3

L = [f(x)dx we° I = [ f(x)dx, 6962 L, +2L, ® R4 QAR _
0 -1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 864351533 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

+
If the normal to the curve ¥(x)= J{zt: 15t + 10) dt at a point (a, b) is parallel to the line
0

x+3y= —5, a > 1, then the value of ja +6b| is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 83 Question Id : 864351533 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

X

a6 89 (a, b) 0I6a eReasl y(x)= [t — 15t +10)dt g uEe A, AeNERs x +3y=

a>1 Q% QrIex @9, 6969 a+6b @ Fad QAle
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 864351534 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
ac™ — beosxy +ce™?

If lim : =2, thenatb+tcis equal to
x—0 xsinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 864351534 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

x —-x
ae bcosx + ce

aa lim :
x—l) XSy

2| 6e6e atbt+cQ@ale
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351535 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



Consider an arithmetic series and a geometric series having four initial terms from the set
{11, 8, 21, 16, 26, 32, 4}. If the last terms of these series are the maximum possible four digit
numbers, then the number of common terms in these two series is equal o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 864351535 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

6Q¢ {11, 8,21, 16, 26, 32, 4} F1:Q 9I066IE QPR 99 670 691G Sd6a 6861 8 geaias cgdl
Qo0 @6 | 99 ¥@ cgai(gen) dene 648 CogEe QO aAe gREe Qda el TR,
6069 9@ 9af 6861 F6a AW ARG AR e AAIS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 864351536 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-
Fa

30 20 56 2 7 o)
: : : 14+ 43
Let P=| 90 140 112|and A= 1 i 1| where w= T and I, be the

120 6l i4 | 0 W w+1

identity matrix of order 3. If the determinant of the matrix (I Is—"ui-*—l_;_]2 is aw?, then the

value of « is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 86 Question Id : 864351536 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

30 20 56 2 7 W A
.3
Aeeen P=| 90 140 112| 9&° A=|-1 -o 1. egs0i6a ® = “+ qe°
120 60 14 0 W w+1 =

K

I, 6298 3 290 G99 99 (2R6ed5) AIS (akean) | 9 (P IAP-13)? qIGge Soafiqie ¢l

amw? 94, 6669 a | fWY AR _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351537 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i e
Letf:(0,2) — R be defined as f(x)= Iog?_[] I tan[%”_
3 L S

Then, lm = [)r(;] ' I[E] Fo.. A ..I'r[l.]J is equal to _ .

n—eoe 1 I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 864351537 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I, - -
Aee@a f:(0,2) » R aeadq f(x)= 1032{1  tan| T" | Q60 odeiBe @aieml | 606@
[ .

.lim 4 [r[%J | f[iw B ,.ftlﬂ aele

n—oo 11 n) J

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351538 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of 3 % 3 matrices A having entries from the set {0, 1, 2, 3] such that the sum
of all the diagonal entries of AA" is 9, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 864351538 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

628 {0, 1, 2, 3} g QULIR 9% (3x3) BPe6 AIEY (QLal) 2R 8a caada AAT o ang

R4ea 29 RIS AN FIE OF 9 62RAS, 6669 692 (3 x3) 2FRN AIEY AIPTA A& AR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 864351539 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let ABCD be a square of side of unit length. Let a circle C; centered at A with unit radius is
drawn. Another circle C: which touches CI and the lines AD and AB are tangent to il, is
also drawn. Leta tangent line from the point C to the circle Cz meet the side AB at E. I the

length of EB is .u F A3 [, where o, B are integers, then a + 3 is equal to

Response Type : Numeric
Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 864351539 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AEaaa 1 9@ A4 912 984 ABCD 9@ @d6de | 99 A 0168 a8 @8, 1 9a9 Quais §da C, 98
PEe ARAIRE | C; @ 9900 2N 97 Q8 G, UF FAIKIRE Q1291 95 6adl AD @ AB 94 Z6a |
Aeaea C 959 G, 98 g0 1@ 949 606l c8I9m Q19 AB Qigq E G016 94 @6l | 9% EB @

62al « + B P, (606066 a, B gEA°Hl), 6069 a+p AL

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351540 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dt

Let the curve y=y(x) be the solution of the differential equation, d—i= 2Ax + 1), If the

numerical value of area bounded by the curve y=y(x) and x-axis is , then the value of

("

y(1) is equal to ____

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 864351540 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



di " 2
Aeeae y=y(x) Q68 d—i=2(x +1) 290 AMERETe 9@ dAIe 66 | 99 QxR

48
y=y(x) 99° x-28 QI 2T 6AGA CACTRS APYIR TR TJ— 24, 6069 y(1) @ ga aaIg

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



